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O Newton O DOODOOOOOOOODOOODOOO:
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000000000 f(r)=000000f0 #0000 Jacobi OOO f(¥) 0O00O0OO
Newton OO 0O 0O

fn-&-l = Tn — [f,<fn)]_1f(fn)

Upow(a,b) 0 a0 b 00000000000 pow(2.0, 1.0/3.0) 0 200000000000

7



1 1
OOooooon x 0O <1>,< 1>DDDDDDDD

6 UUOOoooooonbn

OO00000000 bisection.c, newton.c OO OO II0 WWWUODOUO http://www.
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6.1 Newton U0OODO

1000000000000 10000000 Newton 0000000000000 (OO
0 1 1e-15)0

isc-xas06%, gcc -o newton newton.c -lm A
isc-xas06% ./newton
obo0 xo0, O0O0OOe€e =1 1e-15
f( 7.503638678402439e-01)=-1.89e-02
f( 7.391128909113617e-01)=-4.65e-05
f( 7.390851333852840e-01)=-2.85e-10
f( 7.390851332151607e-01)= 0.00e+00
f( 7.390851332151607e-01)= 0.00e+00
isc-xas06%
/
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isc-xas06% gcc -o bisection bisection.c -1lm
isc-xas06% ./bisection
OO000000a, OOB, OODOOe =0 1 le-15

£f( 5.000000000000000e-01)= 3.78e-01, £( 1.000000000000000e+00)=-4.60e-01
£f( 5.000000000000000e-01)= 3.78e-01, £(  7.500000000000000e-01)=-1.83e-02
f(  6.250000000000000e-01)= 1.86e-01, £(  7.500000000000000e-01)=-1.83e-02
£f(  6.875000000000000e-01)= 8.53e-02, £(  7.500000000000000e-01)=-1.83e-02
f(  7.187500000000000e-01)= 3.39e-02, f(  7.500000000000000e-01)=-1.83e-02
f( 7.343750000000000e-01)= 7.87e-03, £(  7.500000000000000e-01)=-1.83e-02
f(  7.343750000000000e-01)= 7.87e-03, £(  7.421875000000000e-01)=-5.20e-03
f( 7.382812500000000e-01)= 1.35e-03, £(  7.421875000000000e-01)=-5.20e-03
RN

f( .390851332151556e-01)= 8.55e-15, £( .390851332151627e-01)=-3.44e-15

.390851332151627e-01)=-3.44e-15
.390851332151609e-01)=-4.44e-16

7

f( 7.390851332151591e-01)= 2.55e-15, f(
7
7 .390851332151609e-01)=-4.44e-16
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2
f( .390851332151591e-01)= 2.55e-15, £(
1
1

RN EENEEN

£( .390851332151600e-01)= 1.11e-15, £f(
£( 7.390851332151600e-01)= 1.11e-15
isc-xas06Y
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Newton 00O 00000000 O0O0ODOOOO0ODOODOODOO0O020 ceOOOOOODOO
OOooOf0b0b000OO0O0OO0ODOoDOOobOobOoooOO:

f(@)= f'(a)(z —a) + f(a).

0al f(z)=0000000000000f(x)=000000

f(a)(z —a)+ f(a) =0
000000000«00000000000000000000000000000000
000000000000

f(a)(z —a) = —f(a).

000 [f(e)' 0000

r—a=—[f'(a) f(a),

0oo

—a— ()1 a:a—f(@'
T = [f'(a)] f(a) f’(a)'
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